6.5

1) r?-16
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r+4)(r-4)

3) v?-25

) &
(v+5)(v—5)

5 p?-4
®» @
P+2)(p@-2)

7) 9k?-—4
(Bk) (2)
Bk +2)(3k — 2)

9) 3x%-27

3(x2-9)

(x) (3)
3(x+3)(x—3)

11) 16x% — 36
4(4x% - 9)
(2x) (3)
4(2x +3)(2x = 3)

13) 18a? — 50bh%
2(9a? — 25h3?)

(Ba) (5b)
2(3a + 5b)(3a — 5b)

15) a®> —2a+1 111
(a—1)2 2

17) x> +6x+9 o
(x + 3)? 363

19) x2 —6x+9 o
(x + 3)? ‘3_3‘3

21) 25p2 —10p + 1
(5p — 1)?
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23) 25a? + 30ab’+ 9b?
(5a + 3b)?

25) 4a? — 20ab + 25b2>)<
(2a — 5b)? 20

27) 8x? — 24xy + 18y? 36
2(4x% — 12xy + 9y?) '5_12'6
2(2x — 3y)?

29) 8—m?3
(2) (m)
(2—m)(4 + 2m + m?)

31) x3—64

(x) D
(x —4)(x? + 4x + 16)

33) 216 —ud

6 W
(6 —u)(36 + 6u + u?

35) 125a% — 64
Ga) @
(5a — 4)(25a? + 20a + 16)

37) 64x3 +27y3

(4x) (3y)
(4x + 3y)(16x% — 12xy + 9y?)

39) 54x3 + 250y3
2(27x3 + 125y3)
Bx)  (5y)
2(3x + 5y)(9x? — 15xy + 25y?



41) a*-81 45) x*—y*

(@) (9) COND!
(a*+9)(a®*-9) (x2 +yH(x* —y?)
(@ (3) x) ()
(@*+9(a+3)(a-3) X2+ y)(x+y)(x—y)
43) 16 — z* 47) m* —81b*
4) (23 (m?) (9b%)
(4+z5)(4-12% (m? + 9b%)(m? — 9b?)
(2) (2 (m) (3b)

(4+2z)2+2)(2-2) (m? + 9b%)(m + 3b)(m — 3b)



